HEXEERIGRE - T2 ) VU ER TH7%53A4H

B, = E5EiRG [2 BO#R)
EFHEMKER. Bm/KENER - JKIE 2m D BEHKIRE. 1/1 LRSS TREER I
REEET KA ARk SR, = E 8 HY. 10CETEZ A LERSNE LT,
g . ESEE. 2 ARAICREL-ERELMEET
BKER_A® . 960 #@Ra/mL (3487 4. 1m). 180 #BAS/mL (=~
qéﬁjj 7 om) AR Eh. 1 AOBERE LAt LE
C;gﬁﬁ Lt=. 2 ATRICHAZ L-EEETIE. FARE
/KﬁG% : 4L <IERDLE L,
o (KA 1B NS ([ 45k
- 30 AaigKiR (AFEIFKIR)
(FE1R) —-—kE_2m —~/VE_2m
L -—BA 2m % 2m|”

5 I I I I I I I I I I L
1/1 1/11 1/21 1/31 2/10 2/20
(% #]
| . LrmPi-1e LrmPi-1e SE A SE A N ;ﬁ -]- o
AHA 2/25 2/11 2/18
Bl 9:13 9:28 9:45| 10:01| 10:17| 10:28] 10:48] 10:35] 11:57f 10:41| 10:45
KiE (m) 13.6 9.5 12.4 17.1 8.9 8.0 9.8 8.3 12.9 8.6 5.1
KR 0.5m 79 8.7 8.9 9.1 9.5 94 10.3 9.2 13.2 13.7 10.4
(°c) 2m 79 8.7 8.9 9.1 9.5 94 10.3 9.1 13.1 13.7 10.4
5m 7.9 8.7 8.9 9.2 9.6 9.3 10.3 8.9 13.0 137 —
B-1m 7.9 8.7 8.9 9.5 9.2 9.1 10.2 8.9 12.8 13.7 10.3
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B-1m 9.7 9.3 9.3 9.1 9.6 9.4 9.1 9.7 8.5 7.9 9.4
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